2016 04 05 1

Batsystem  PB105 - Monteringsanvisning

I
Batsystem AB, Traneredsvigen 112, 426 53 Vistra Frolunda, Tel: 031-69 03 80, Fax: 031-690097
www.hatsystem.se, info@batsystem.se

< ' ’ OBS: Detta battillbehor ar endast for bruk till sjoss.  NOTE: This boat accessory is only to be used at sea.
u

Detta behéver du: W @ ‘ - — x1

You will need this:

(T ORI
OO,
Va

T & &

x2 x1 x1 4 x4 x2 x2 «xl x1
M10x50 M10x60 M10x40 M10x35 M8x50 M8 M10 M10

®0O 60 VOB © O O

L

Montering:

* Efter behov./
If needed




2016 04 05

Stalramen kan justeras

i bredd vid behov. Lossa
fastbultar innan och fast
sedan igen.

I

The steel frame may be
adjusted in width, if
necessary. Loosen
mounting bolts first
then secure again.

©e o o

Montering av faste for gennaker och Code-0 / Mounting of brackets for gennaker and Code-0
Stag och Code-0 faste MASTE monteras vid samma punkt / Strut and Code-0 attachment MUST be mounted at the same point
Utan ankarrulle / Without anchor roller Med ankarrulle / With anchor roller
C
Tata med Sikaflex vid o | ° ©
inféstningarna mot skrovet.
Use Sikaflex on the fittings.
\ /\
o o o o o o) o o o (o o o)
— \/
~1T 1 2 3 4 5 6 1 4 5 6
\ \
Anvand valfria hal for faste av code-0 Anvand hal 4+5 eller 5+6 for faste av code-0
Use any fgles for mounting of code-0 Use any hole 4+5 or 5+6 for mounting of code-0

Anpassa teaken efter forens form. / Customize the teak after the bow shape.

Montera plattjarnet pa undersidan av teaken.
Fit the plate on the bottom of the teak.

Ankarrulle / Anchor roll —

P1308, max 15 kg

¢ o o o

I 1 [ s

Lossa béslag Ef('ir st.yrbor‘d ellere babords montering). Séga en 6ppning i teaken.
Loosen the fittings (for starboard or port). Cut an opening in the teak.




16 04 05
[ = . .
Batsystem BU/3P, BU75P-4 - Monteringsanvisning

I __~_
/W Batsystem AB, Traneredsvéagen 112, 426 53 Vastra Frolunda, Tel: 031-69 03 80, Fax: 031-690097,
www.batsystem.se, info@batsystem.se

Detta behéver du: Innehall: Stege / Ladder:

You will need this: o o Va
...... . BU75P "{ { {
@\ BBBBB 4 ,

5 mm i = © |

ﬂ -_'f MARKER PEN = =

s X6 X6 X6 X2 x1 .
FSM5x35 M5 M5 ;;

— O @6 O

Monteringskarta:

—_—
:fqgo

O

‘0
/‘—’

o




2016 04 05

Batsystem BKT73, BKT73T - Monteringsanvisning
N

Batsystem AB, Traneredsvagen 112, 426 53 Vastra Frélunda, Tel: 031-69 03 80, Fax: 031-690097,
www.batsystem.se, info@batsystem.se
Detta behéver du:

Innehall: Stege / Ladder:
You will need this: g *
L BKT73
%i BKT73T
1 5 mm ?
ﬂ == MARKER PEN ) ﬁ? )
X X X
70 ®06
Montering:

Se till att ramsidorna monteras parallellt sa att inte stegen fastnar nar den
félls in.

, X2 ig
@6mm

Borra hal.




